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Introduclion

Mo,Hlemo,Hcs ho,s specialised o,nd technical language whlch needs Lo be Laughk explicng.
If our children are lo lalk like maHuemahcians', we need o be infenlional and Preclse in the

mode”ing OF maH‘»emahca[ [o,nguo,ge. The use OF slem senlences SCOFFO[CJ,S H‘»is developmenk.

So, whot isa stem senlence?
" A stem senkence is a struclured sentence thal oﬁen expresses o key concepkual idea or
generalisahon.
= Slem senbences Provlde opportunlhes lo communicale ideas with mathemalical precision and
clariky.

u A stem sentence can be a WI”LO[C sentence or I’IO,VC mlsslng PQI"LS ITO fl“ in.

What impacl can a stem senlence have?

" Theﬂ imProve the learners oracy skills and cha“enge them to widen their mathemalical
vocabulara.
A stem senlence Provides a Fromework lo aid the embeddmg of know[edge and build o deeper
underskandmg.
Theﬂ enhance, leough Hw Precise use Of language, Hw abilikﬂ to reason, explo,'m H’»inkmg o,nd
o effechvelﬂ queshon.

How can stem senlences be used within our Maths lessons?
| I say You say We all say @
Example: This is a whole apple because I have all of il.

Example: A coordinale is a fixed Poinl.

TI”LC stem sentence is mode“ed. Learners are Hlen ChOSCI’l ITO I"CPGOIT Hw skem senkence, before
CVCI"UOI’IC SO,HS Hw sentence lTOgCH”LGI". The I"CPCHI«"LOI’I Of a |<eg COHCCPI«' I”LC[PS ITO embed mo,Hmemo,hcal
knowledge. The use Of 965[1“‘65 a[ongslde a skem sentence SUPPOFI«'S SPO,I«"LO,l Hlinl(mg, ViSUOhSQI«'iOI’l

o,nd |’10,S been I.‘OU,HCJ, ITO FCCJ,U«CC H‘»e [OO,CJ, on working memorg.

2. Complete the senlence
Examp[e: Whlch is the largest decimal rw,mber.P 0.00| 0.0| O.|

T/ze largesf decima/ number is ___. I /<n0w t%iS because .
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. Variahon

Exo,mple: Tl’lere are |2 StOI"S. One HILTCI Of H‘»e SIT(II"S is equa[ ITO 4 SI'GI"S

There are |2 SkO,I”S. Of H’LG SITOJ'S is equal ITO

Learners VOFB I(CH PO,Y'ITS WiH’liI’l H‘»e mode”ed skem SCI’IITGI'ICG ITO creo,te a new stem senfence

of their own.

. Creale a Generalisalion/Rule

Through exploro,hon and modelled examp[es, learners are 9uided lowards 9eneraliso,hons.

When adding 10t a number, the ones digif sfays the same.

Numbers that have exacHy fwo j[acfors are Prime numbers. @
The stem sentence is modelled. Learners rePeak the sentence, as the repehhon of @

genero,[iso,hon/rule helps lo embed mathemalical concepts.

) Reosoning

I_CO,FHCFS complete Hw stem sentences ITO explo,'m H’»eir H’lOUgl’ll’S o,nd reasons behind Hweir answer.

(MOFG skems are on reo,son'mg maks)

I noliced that ___ S0

T/le answer can 'l' be _— because . T/lerelfore, Hze answer musf be I

I a/ready /(I'IOW Hzaf SO

. Problem Solving
Stems to suPPort ka”(mg about maths Problems include

The informaﬁon needed to solve this Problem is
The j[irsf Hu’ng I did was ....

First _— Then Next Last

I agree with you because .... I disagree with you because ....

The sfrafegy ... I used was / is similar because / is differemt because

The exPecko,ﬁon within every maths lessons is that our children are lo sPeo,|< in fuu senkences,
explaming Hmeir H‘»oughts, meH‘»ods, connechons seen or fou,nd, avoiding vo,gu,e responses.
The use of stem senlences aim o suPPort fundamenkal maths skructures, which can be drawn

upon as children sPea|< and express their own ldeo,s.
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w};oles ond PGI‘I?S

Longuage/ Structure This is a whole apple because I have all of if

This is a whole . because I have all
of ik, é ‘

Language/ Structure | Thig i not o whole apple because I don't have all of i

TI'HS is nob a whole GPPle because I onlg I’IOVC PGr‘l: Of lk

.
s

This is nol o whole because I don't

have all of i3 Q ‘

Longuage/ S|:ruc|:ure

This is not o whole because I oan

have Parl of i3

Genero[isahon

A whole can be splik inko kwo Parks in
lots of diﬁerent ways.

A whole is o,lwo,Hs bigger than a Parl of Generalisation
the whole.

(eneralisation
A part is a[waHs smaller than its whole.

A whole can be splik into more than fwo Generalisalion

POI"ITS in lOl?S Of differenf WGHS.

Structure This is a whole group of cakes
This is a whole group of ___ because because none are miss‘mg; I
none are miss'mg; I ho,ve all of Hlem. have all of them.
Structure This is not a whole group of cakes
This is not a whole group of ____ because we don't have all of them: some
because onlg parl of the o has of them are missing.
___in. This is not a whole group of cakes
because can Parl of the Frog has cakes
Longuage/ Structure
. This is the whole group of
This is the whole group of ___. I have Lobhie's balle.

au of Hlem. I have oll of them

Lolhie's group of b balls

Structure ————
There are in qu who[e group. There are six Pencils in the whole
. ) group.
Thef‘e W Hus Park % Hw There are four Pencils in this Port
I of the group.
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Whole o,nd PCH‘lIS

Structure 3is the whole; lisa Port and 2isa Parl.
___is the whole; ___isa part and @ °
___isa ParL I I z :
The whole is _____. One Park is _____
the other Part is _____ .

Generalisalion
A whole sPlit inko equal Po,rts can be
seen as both an addilive and o 5 5 5
muuiplicahve struclure.

Generalisation

A whole sPliL inko unequal Parts can be

seen as an addilive struclure.

The whole minus the known ParKs) is

equa[ to the miss'mg ParL

The sum Of Hw l(nown POJ’KS) Plus H’le

miss'mg Parl is equal to the whole

Generalisahon

55ml

Add HOUF own
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Composition of numbers inc. place value

The ___ represen}s all the counters. Shruchure
The ___ represents the ___ counters.
The ___ rePresenfs the ___ counters. The five rePresenEs all the counters.
The three represents the blue counters.
The two rePresenfs the red counters.
The whole is ___ and one Po,rt is ___so Shructure The whole is five and one Po,rE is bwo so the other Part

H’le oner POI’+ must be —_——

musb be H’»ree.

The number before a given nu,mber is one
less.
The number af}er a 9iven nu,mber is one

more.

Genero,liso,hon

Adding one 9'wes one more.

Genero,liso,hon

Sub}rachng one 9'wes one less.

Genero,liso,hon

___is f'we and ___ more. Shructure Six is five and one more.

___is equal bo ten Plus S Shruchure Twelve is equa[ bo ten Plus bwo.

This is ten ones. It is also one ten Shruchure

___ones are equa[ bo ___ ten. Shruchure Ten ones ae equal to one ten.

We have ___ 9roup(s) of ben. We have one group of ben.

We have ___ ten(s). We have one len.

This is the number ___. Shruchure This is the number ten.

The ___ rePresen}s ___lens. The | represenks one fen

There are ___ tens which is ___ and ___ | Shruclure There are two kens which is kwentg and three ones which
ones which is ___. This makes ___ is three. This makes kwenhj-Hmree auoge}her: 23.
a”ogelher. The 7 represenks two tens. It has a value of Lwenkﬁ.
The ___ represenls ___tens. It has a The 3 represenks three ones. It has a value of three.
value of ——

The ___ rePresenfs ___ones. lthas a

value of

All mu”fiples of ten end with a zero.

Generalisahon

We have —— kens. We cau Hlis .

Longuage/ skruckure

This is the number ___. We write the ___ Shructure This is the number for|:3—h~o. We wrile the four then the
then the ___ bwo.

Thisis ___. Ten more than ___is ___. Shructure This is Hmirt‘tj. Ten more than Hlirhj is Forkg.
___is ten more than ___ Forl‘g is fen more than Hurkﬂ.

Thisis ___. Ten less than ___is ___. This is forLH. Ten less than forkg is thir‘l‘g.
___istenless than ___. Thirtﬂ is ken less than forLH.

I know that ___ plus ___is equo[ to ___ | Shruclure I know that 2 Plus 5is equal bo 7.

So, ___ lens Plus ___tlensiis eolual bo So, 2 tens Plus 5 tens is equal bo 7 lens.
___lens.

I know that ___ minus ___is equol bo Shruchure I know that 5 minus 2 is eolua[ bo 3.

- So, 5 tens minus 2 lens is equal to 3 fens.
So, ___ ltens minus ___ lens is equal bo

tens.
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I know that ___ Plus ___is equal bo ten Shruchure I know that 6 Plus bis equal bo 10 so 16 Plus bis equal
SO ___ Plus ___is equal bo ___. to 20.

I know that ___ minus ___is eo[ual bo ten | Shructure I know that 10 minus 3 is eclua[ to 7 s0 20 minus 3 is
SO ___minus ___is eo[ual bo ___ equal bo I7.

To compare bwo digik numbers, we need lo
compare the tens digi}s; if the tens cligiks

are I?he same, we need ITO compare H'le ones

Generalisation

sfruckure

digi}s.

To compare three digit numbers, we need o | Generalisation

compare the hundreds digik; if the structure

hundreds digiks are the same, we need to

compore the tens digi}s; if the

So ___tens Plus ___tlensis equo,l bo ___

tens. (mulhple—o;—ken addends)

. Plus ___ s equa[ to one hundred and

——_ (humber names)

I know that ___ minus ___is equal bo Shructure I know that twelve minus f'we is equol to seven.

N (bridging ten) So twelve tens minus five tens is equo,[ bo seven fens.
So ___ tens minus ___ lens is equa[ bo 120 minus 50 is equal to 10.

___ tfens. (bridging ten tens)

One hundred and ___ minus ___is equol

to ___. (number names)

There is ___ group of |00 and ___ more. | Shruclure There is | group of |00 and 24 more. There are one
There are ___ ___. hundred and Fwentg—four.

___ s ___ ones. Shructure 243 is 243 ones.

___is ___ hundreds and ___ ones. 243 is 2 hundreds and 43 ones.

___is___tens and ___ ones. 243 is 24 lens and 3 ones.

___is___hundreds, ___tens and ___ 243 is 2 hundreds, 4 tens and 3 ones.

ones.

There are ten hundreds in one thousand. Shructure

There are one hundred tens in one

thousand.

There are one thousand ones in one

thousand.

___ hundred Plus —__hundred is equal bo | Shructure Six hundred Plus five hundred is equal to eleven hundred.

hundrecl.

We |<n0w Hlere are lfen hundreds in one

|:|'10uso,nd, SO ___ hundred PLU,S —_

hundred is equal }0 —_ lhousand JR—
hundred

We |<n0w Hlere are ten hundreds in one khousqnd, SO Six

hundred PlUS J."We hundred is equol ITO ane khousand one
hunclred.

We know there are ten hundreds in one
thousand hundred
is eclu,al bo N hundred.

H’IO usancl, SO

N hundred minus ___ hundred is ec[ual

|70 hundred.

We |<now Hlere are Len hundrecls in one lhousand, SO one
H‘tOUSGI’ld one hundred is eClUOl ITO eleven hundred.

e[even hundred minus six hundred is equal ko five

hunclred.
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There are ken one H’lOUSOﬂdS in ten-
H’lOUSOﬂd.

There are one hundred one hundreds in
Ifen-thousand.

There are one }housand kens in ten-
H’IOUSOHCL

There are Len H‘»ousand ones in ten-

H’IO USOHCL
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Addilive struclures: aggregohan and Porhlioning

There are N ond _— There are four open umbrellas and five closed umbrellas.
We can wrike H’»is as ___ Plus N We can wrike H'mis as four Plus five.
Shructure
The I rePresenls the . The four represenls the four open umbrellas.
The I rePresenlfs the S The five rePresenEs the five closed umbrellas.
___is equal Lo N Plus . Five is equo,l to four Plus one.
R Plus ___is equal }o . Four Plus one is equol lfo five.
___ond ___ are the addends. huchure Four and one are the oddends.
___is Hw sum. Five is Hw sum.
Addend Plus addend equals sum. Language

Su,m equo,ls addend PLUS addend.

Addilive struclures: augmenlolion and reduclion

First... then... now... Language First, four children were siHing on the bus.
See: ncetm_mm_sPLH|_se06_beach.PdJ: for Then three more children got on the bus.
los more examples of how to use ‘J:irsL.. Now seven children are sining on the bus.
then... now in the conkext of augmentohon Firsk, there were four children in the car.
and reduclion. Then one child 90L out.

Now there are three children in the car.
0dd and even numbers
___is made of Pairs; it is an even number. | Structure/ Language 6 is made of Po,irs; it is an even number.

___is no|; made of Poirs; i} is an odd

number.

7 is nok mo,de

Even numbers can be Parhhoned inko Lwo

Odd PGFLS or kWO even PQF'?S.

Genero,lisohon

Odd numbers can be Parhhoned inko one

Odd POI"} and one even POFL

Genero,lisohon

If H1e whole is odd ancl one Parl; is even,

the other Par} must be odd.
If H1e whole is odcl ond one Po,rk is odd,

the other Par|: must be even.
If Hw whole is even o,nd one Par|; is even,
the other Par|: must be even.

If Hw whole is even o,nd one Part is odd,
the other Par} must be odd.

Genero,lisahon

Adding Mo ko an odcl number gives Hme

next odd number.

Adding lwo to an even number 9‘wes the
next even number.

Sub}rachng bwo from an odd number gives
the Previous odd number.

Sublracl'ing bwo from an even number gives

I?he previous even number.

Genero,lisahon

Consecuhve Odd numbers have a clifference

OJ: |FWO.

Generalisation
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CODSGCUHVG even numbers hOVG a

difference of bwo.

Doubling a whole number alwogs 9‘wes an

even number

Generalisation

We |<now Hw number is OC[C[ because

the ones digik is odd.

We |<now Hw number

is even because

the ones digik is even.

Generalisation

A nu,mber is odd if H‘»e ones digit is odd. H

can 't be made from groups of bwo.
A nu,mber is even if Hw ones digif is even.

]} can be mo,de from SFOUPS GJ.' hNO.

Genero,liso,hon

Round'mg

___is between ___and ___ Structure/ language 43 is between 40 and 50.

___is the Previous mulhp[e of ben/ 40 is the Previous mulhple of ben.

hundred/ thousand. 50 is the next mulhple of ben.

___is the next mulhp[e of ten/ hundred/

thousand.

‘' is belween ___ and ___. Shructure 1321 is between 1000 and 2000.

The Previous mulhple of one ten/ hundred/ The Previous mulhp[e of one thousand is 1000. The next
thousand is ___. The next mulhple of one mulhple of one thousand is 2000.

ten/ hundred/ thousand is ___. 1321 is nearest to 1000.

‘o’ is nearest to ___ ten/ hundred/ 1321 is 1000 when rounded to the nearest thousand.
thousand.

‘o is ___ when rounded to the nearest

ten/ hundred/ thousand.

___is belween ___ and Shructure 34 is belween 3 and 4.

___is the Previous whole number.

___ is the next whole number.
___isnearest bo ___.

___ rounded to the nearest whole number

is

3 is Hw Previous whole number.
L is the next whole number.

3.4 is neares|: ko 3.

34‘ rounded LO Hme neo,resk who[e nu,mber is 3

When rounding Lo Hme neo,resk — if H1e
digik is 4 or less we round down. If

Hle digﬁ is 5 or more, we round up.

Genero,lisohon

When rounding to the nearest }housand, if the hundreds
dig'ﬁ is 4 or [ess we round down. If H1e hundreds digil? is

5 or more, we round UP.

The midpoinf between/ of ——— and ___is Structure The midpoink belween ten and Lwenkﬂ is fifleen, so the
—__, SO the midpoink between/ of ——— midpomk bebween ten-thousand and kwenfg-thousancl is
thousand and N thousand is — Fiﬁeen thousand.

___is 9real¢er/ less than ___ SO ___ Struclure 54 <58

thousand is greater/ less than 54000 « 58000

IThOUSOHd.

58 is 9!‘60'?6!‘ Hlan 54’, SO 58 I:housand is grea}er Hmn 54-
H‘»ouso,nd.

11| Page




Negahve numbers

Negahve numbers are below/ less than zero.
Posilive numbers are above/ 9reaker than

zero.

Generalisation

Negahve numbers are ITO Hw [leI,' OJI zera.

Posilive numbers are to the righk of zero.

Generalisation

Zero is neiHler nego,hve nor Posihve

Generalisahon

For bOH\ Posihve and negahve numbers, Hw
larger the value of the number, the fu,rHler

away i|; is from zero.

Generalisahon

For negohve kemperolrures, the fu,erer
away from zero it is, the colder the
kemperoture.

For Posihve kempero,tures, the furHler away

from ero ik is, |;|we warmer |;|'1e }emperaku,re.

(COI’I be QdQPted LO OH‘LGF contexts)

Generalisahon

The difference behrveen }wo numbers is
alwags a Posihve number, rego,rdless of
whether the numbers are negaﬁve or

Posihve.

Genero,lisohon

If we add o Posihve nu,mber, the number
96}5 higher/ greater.

If we sublract o Posihve number, the
number 9e}s lower/ smaller.

If we add o negahve number, the number
ge}s smaller/ lower.

If we sublract a ne90,|:'we number, the

number ge}s higher/ 9!’60'?6!”.

Genero,lisohon

Addiﬁon and subl‘raclion slrolegies

II.' we change H'1e order Of Hw addends, Hwe

sum remains H’Ie same.
We can change H’le order OI.' Hw adclends

o,nd H’Ie sum remains H‘»e same.

Skruclure

/\dcling one g'wes one more.

Generalisahon

Sub}mchng one 9'wes one less.

Genero,lisohon

CODSGCUHV& numbers hOVG a difference OF

ane.

Generalisation

When zero is added kO a number, Hw

number remains unchanged.

Generalisation

When zero is subh‘acked from a number, H‘le

number remains unchanged.

Generalisation

Sub}rachng o number from i}selJ: 9'wes a

difference OF zero.

Genero,lisohon
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There are

_______ and RN A”?ogel?her

lfhere are ___.

Language

There are ITWO r‘ed marbles, lfhree blue marbles and FWe

HGHOW mo,rbles. /‘\HogeH‘mer, Hlere are ten marbles.

When we Odd Hwee numbers, H'te kokal Wi“

be the same whichever Poir we add firsf

Generalisation

We can look for Pairs of addends which

Generalisation

sum fo len.

I Plus ___is equ,o,l to ken, then ten Plus Shructure T+ 3 + &

___is equal ko .. Seven P[us Hmree is equo,[ ko |:en, Hmen ken P[us four is
equo,l bo fcurteen.

Firs} I Parhhon H1e _______ Plu,s ___is Sh‘ucture FirsE I Parhhon Hw f‘tve: H‘»ree Plus 2 is equal l’o five.

ec[u,o,l to . Then seven P[us three is equ,o,l bo ten...

Then N Plus ___is equal bo ten... ...and ten plus bwo is equo,l to bwelve.

...and ten Plus ___is eclual fo _—

There are ___more ___ than . Shructure There are bwo more red cars than blue cars.

There are ——— fewer ___ than . There are two fewer blue cars than red cars.

The difference belween the number of ——— Shructure The clifference between the number of blue cars and the

and |;|'1e nu,mber of ——— is

number Of red cars is |?W0.

The more we sub}mch the less we are [eft
with.

The less we sub}mc}, Hw more we are [efl?

with.

Genero,lisohon

The —_— rePresen}s Hw number Of N
The —_— rePresen}s H\e number Of —_—
The —_— rePresents Hme difference bekween
|;he number Of —_— and H\e number Of

_

SLFUC'?UI“G

The 8 represenks Hw number OI: children. The 3 rePresents
Hme number Of Pencils. The 5 represen|:s |:he di”erence
bekween Hw number Of children o,nd |:he number Of Pencils.

Sublraclion is not commulalive

Generalisahon

6 — 3is not equal o 3 — 6.

TO SUbl?I"OCt ———, We can SU[’JH‘OCL H’le

H'len SUbITOCt H’Ie .

Skructure

TO SU[’JITOCL 23 We can SU[)EFOC[’ H’le 20 Hmen SUbh‘GCI? H‘»e
3.

For a sublraclion calculalion where both
numbers have the same ones digik, the

difference is a mu”iple of [en.

Generalisahon

First we add: N Plus ___is equal bo

Hlen we adjusk: ___minus ___is ec[uo[

to

First we add: 52 Plus 30is equal lo 82
then we o,djusk 82 minus | is 8l.

For calculahons Hxal involve boH1 addihons
and sublrackion skeps, we con add then

SUHTOCL or SUbh‘GCL Hlen Gdd; H‘»e J.'inGl

answer is Hme same.

Generalisahon

The value of the expressions on each side

Of Hw equals sign must be equal.

Generalisation
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I]: one addend is increased 53 an amount
and the other addend is decreased BH the

same amounl?, Hw sum remains Hw same.

Generalisation

(connecl?ed WiH’l above) I have added
ITO H}is addend SO I mus} subh‘ack -
]:rom Hw OH’IGI‘ addend |70 |<eep H1e sum Hw

same.

Sh‘ucture

I I"LO,VG added Len |?O 520 SO I musk subtract ken from ZqO

ITO keep H;e sum H1e same.

I]: one addend is increased/ decreased bH
an amount and the other addend remains
unchanged, the sum is also increased/

decreosed bH Hwe same amounk

Generalisation

(connecl‘ed WiH’I above) I've added/
subl‘rocted —_— tO/ from H\is addend and

kept |;|we OH‘LGF oddend Hw same so I musk
Qdd/ subl‘rod —_— }O/ from Hme sum.

SLF‘UC'FU,I“G

I have added ten to & and kept the other addend the

same so I must Odd len kO 7 Q[SC.

II_‘ Hw sum increo,ses/ decreoses bH an
amou,n|; and ane o,ddend hO,S sko,ged H‘le
same, H\e o|;her addend must increose/

decrease bU H\e same amounf

Genero,lisohon

(connecl‘ed WiH’l above) The sum l’\O,S
increo,sed/ decreased b&j ——— one oddend

|’IOS s}aged Hw same, so Hw oHler addend

mus} increase/ decrease by —_—

SLFUC'?UI“G

The sum hQS increased bH 2; one addend hQS sbaged Hw

same, so H‘le oH‘»er addend mus|: QlSO increase bH 2

II_‘ Hw m'mu,end ond Hme subkrohend are
changed bH |;|'1e same omount, H‘le

difference remains Hw same.

Genero,lisohon

I've added/ sub}rac}ed —_— LO/ J:rom Hw
m'mu,end and Hw subl:rohend SO H1e

difference remains Hw same.

SLFUC'?UFC

I've subkmcted | from H\e m‘muend and |:he sub}rahend SO

|;he difference remains Hw same.

In a balanced equo,hon, If I add an
amount to the minuend or sublrahend, I
need to add the same amount fo the
sublrahend or minuend o |<eeP the
difference the same.

In a balanced equahon, if I sublract an
amount from the minuend or sublrahend, I
need o sublract the same amount from the
sublrahend or minuend to |<eep the

difference the same.

Genero,lisahon

T've added N to the minuend/
subkrohend, so I need fo add to the

sublrahend/ minuend to keep the difference

|:|'1e same.
I‘ve SU[)EFOC'?CC[ —_— from Hw minu,encl/
subkrohend SO I need ITO SUbh"QCL —_— from

SHUCLUFC

I've added 35 to the minuend so I need to add 35 o the
sublrohend kO |<eeP H’te diﬁerence H’Ie same.
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I?he sub}rahend/ minuend }O |<eep H’le

dif}'el‘e nce H1e same.

I]: a cerlain amount is added o the
minuend and the sublrahend is kept the
same, the difference must be increased bH

I?he same amoun[.

Generalisation

I've added _ ITO Hw mmuend and kepk
I?he sub}rahend H’le same, so I have |?O O,Cld

N }O Hwe diﬂ:erence.

Sh‘ucture

I've added Len |?O Hw m'muend and kepk H‘le subkrahend H‘»e

same, soO I hOVG ITO Odd }en ITO I?he di]:]:erence.

If Hw m'mu,end is changed bH an o,mounf
and the sublrahend is kept the same, the

difference chonges b&j Hw same amounl.

Generolisahon

I've subh‘acked —_ from H‘»e minuend cmd
kept |;|we sub}ro,hend H‘le same, so I mus|:

SUbh"QC} —_— from Hw diJ:J:erence.

Sh‘ucture

I,ve subfracted Len from H‘»e minuend o,nd kept Hw
subtrohend Hw same, so I must SUbLFGClF Len from H‘le

diJ:J:erence.

If H1e minuend is kepk Hme same o,nd Hle
subl‘rohend is 'mcreased/ decreosed bH an
amounh the difference must decrease/

increase bH Hme same omounk.

Genero,lisohon

I've kepk Hw m'mu,end Hme same cmd added/
subfracfed —_— LO/ from Hme subtro,hend
SO I musk SUb[’I‘GCl‘/ Gdd —_ LO/ from Hw

difference.

SLFUC'?UI“G

I,VG kept Hw minuend H\e same ond added Len kO H‘»e

subtrohend SO I musk subfracf Len from H‘le difference.

Written algorilhms for addilion and sublr

aclion

For Dienes:

We line up the ones; ___ onels) Plus N
onels).

We line up the tens; ___ ten(s) Plus N
ben(s).

For H1e column addihon calculahonz

The ___ is in the ones column- it
represen}s N one(s); the ___is in the
ones column- i represents ___ onels).
The ___ is in the tens column- it
represen}s N Len(s); the ___is in the
tens column- it rePresenks ___ tenls).

SLFUC'?UI“G

We line up the ones; three ones P[us five ones.

We line up the tens; four tens Plus two lens.

The ‘3" is in the ones column- it represen}s three ones. The
5" is in the ones column- it rePresean five ones.

The ‘4" is in the tens column- it rePresen|:s four tens. The

'2’ is in Hw |:ens column— i|; represenl;s Fwo Lens.

In column addihon, we skark al Hw rigM
hand side.

Generalisahon

II.' Hw column sum is equol LO ITGI"L or more,

we mu,s|: regroup.

Generalisahon

Decimols
The whole is divided info ken/ a hundred Skruclure The whole is divided inko Len equal Parts and one of Hlem
eclu,al Porls and - O Hlem is/ are is shaded; Hmis is one lenHl of Hw whole.

shaded; this is I tenth(s)/ hundred(s) of
the whole.
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I]: a digik is moved one/ two column(s) to
the le]:h the number represen}ed becomes
ten/ one hundred limes bigger/ ten/ one
hundred times the size.

I]: a digik is moved one/ wo column to the
righk, the number representecl becomes ten/
one hundred limes smaller; we can also say

ilf becomes ane }enHl/ one hundred}h Hw

size.

Sh‘ucture/ lang uage

One tenth/ hundredth can be wrilten as Shruchure One tenth can be wrilten as O.| so three tenths can be
01/ 0.0l so ___ tenths/ hundredths can be written as 0.3.

written as O___/ 0.0___

I soy Poinl ——_ bub I think ___ and Language I say J:orhj-eree Point six bub I think 43 and six tenths.
___ tenth(s). I say Five Poink zero six bub T think 5 and six hundredths
I soy ___ Poink ______ bub T think ___

and ___ hundredths.

___ tenths Plus ___tenthsis equo[ bo ten Shructure Four tenths P[u,s six fenths is equol bo ten LenH‘»s, which is
|;en|;hs, which is equo,[ bo one. equo,[ bo one.

One is equol bo ten }enHms; ten tenths minus One is equo,[ bo ten kenH}s; ten tenths minus four tenths is
___tenthsis equol to ___ tenths. equo,[ bo six tenths.

___ hundredths Plus ___ hundredths is Shructure Four hundredths Plus six hundredths is equo,l bo ten
equol to ten hundredl‘hs, which is equal bo hundredH}s, which is equol to one tenth.

one lenth. One tenth is equo,l to ten hundredth; ten hundredth minus
One tenth is equal to ten hundredth; ten four hundredths is equal bo six hundredths.

hundredths minus ___ hundredths is equal

to ___ hundredths.

___ lenths plus ___tenths is equa[ bo ten Shructure Four tenths Plus six fenths is equol bo ten LenHms, which is
kenHls, which is equo,[ bo one. equo,[ bo one.

One is equal bo ten }enHms; ten tenths minus One is equo,[ bo ten kenH}s; ten tenths minus four tenths is
___lenthsis equol to ___ tenths. equo,[ bo six tenths.

___ hundredths Plus ___ hundredths is Shructure Four hundredths Plus six hundredths is equo,l bo ten

equal }o ken hundredl?hs, which is equal ko
one lenth.
One fenth is equal to ten hundredkh; ten

hundredes minus ___ hundredl‘hs is equal
to ___ hundredths.

hundredkhs, which is equal }o one kenHw.

One fenth is equo,l to ten hundredth; ten hundredth minus
four hundredl‘hs is equol to Six hundredHls.

When one lenth is divided ino ten ec[ual
parks, each Park is one hundredths of the
whole; ten hundredths is equal to one fenth.

Generalisation

Ten hundred}hs is equol |?0 one LenH‘p.
Ten Ifenl?hs is equal ITO ane.

One tenth is equol to ten hundredth.

One is equol to ken tenths.

Sh‘ucture
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One centimelre is one hundredth of o
melre, so we can write one cenlimelre as
zero-PoinL-zero-one.

Ten centimelres is one tenth of o metre, S0
we can write ten cenlimelres as zero-Po‘m}-

ane.

S|7I"UC|?UF€

Ten gl’OUPS Of ten Pence is equol LO ane
Pound, SO }en Pence is one lfenl?h OJI a
Pound.

One hundred 9I‘OUPS OJI one PennH is equal
ITO one Pound, SO one Pennﬂ is equa[ |70 one
hundred}h OJI a Pound.

Ten 9I‘OUP$ OJ? one Penng is one LenH’» OJ.'

I?en Pence.

Sh‘ucture

The number to the [efl of the decimal Point
represenls the number of whole Pounds.
The number to the righk of the decimal
Point represen[s the number of additional

Pennies.

SI?I"UC'?UFG
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